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D i From Slope « Substitute the slope m and the coordinates of the point
i and a Point Ny —yq = m(x — Xq).
i;.; From Slope + Substitute the slope m and y-intercept b in y = mx + b.
S and y-intercept Y
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3 From a Graph  ° Find the y-intercept'b and the slope m from the graph,

2 then substitute the slope and y-Intercept in y = mx + b.

“'.

20 From Two . Use the coordinates of the points to find the slope.
Points Substitute the slope and coordinates of one of the

points in y — ¥4 = mM(X — X4).
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From a Table ° Use the coordinates of the two points to find the slope,
then substitute the slope and coordinates of one of the
points in y — ¥4 = m(X = Xy).
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The form you use to write a linear equation is based on the
information you are given.
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i ,«,_,f{? 2. Write an equation in point-slope form and slope-intercept form ){7’ X; |
i[5 for the line that passes through (8, 1) and (-2, 9) 9 8, > 1
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j;: Find the_slope. "/Z 7 {O . %
'& : E m = e L Slope formula 8/’ 2
X — X4 4
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= —— —_— Simplify. 5
m or 5 plily.
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%‘ %’ Use the slope and the coordinates of either point to @ P‘ ' n” V{ﬂ
" f‘r‘"’ write the equation in point-slope form. Y - ﬂX -".K|
4 ﬁ; y—yq,= m(x — xij Point-slope form 51;3'::_1*“" i(x’_ __Z)
h |11 o wi
i y—1= —%[x ~8) (xuy)=@1)m= —% j/ q"" 5
% i ’*’% So, the point-slope form of the equation is g?— 8= —g(” — 8). Y’ =G
g *'; ‘gg In slope-intercept form, this is y = —-g-x a ﬁ_"l’g':" - (X"V) V+,g_;__ | (X"'lﬂ.)
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L}, The cost of assistance dog training sessions Number of | Cost
is shown in the table. Write an equation in Sesslons | ($)
point-slope form to represent the cost y of 5 165
attending x dog training sessions.

10 290

Find the slope of the line. Then use the slope
and one of the points to write the equation of the line.

290 — 165
m = 10 = 5 {ley?} = (1{}-290}1 {xllj’rl} . {5- 165}
= 1—25 or 25 Simplify.

y — 165 = 25(x — 5) Replace (x,, ¥,) with (5, 165) and m with 25 in the
point-slope form equation,

So, the equation of the line is y — 165 = 25(x — 5).
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T Shote [Ga'l' T+7 Do this problem to find out.

ork
= : e. The cost.for making spirit buttons is Number of | Cost
5 shown in the table. Write an equation in Buttons | (S)
point-slope form to represent the cost 100 25
y of makKing x buttons. 150 35

Wr'[te an equation in point-slope form and slope-_[ntercept form for
each line. (Examples1-3) el

1. passes through (2, 5), slope = 4 2. passes through (-3, 1) and (=2, —1)
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3. Janelle is planning a party. The cost for 20 people
is $290. The cost for 45 people is $590. Write an s
equation in point-slope form to represent the cost

* v of having-a party for x people. (Example 4) Rate Yourself!
- s PO o D S Sl N U How confident are you about
ST writing linear equaﬁans‘?
Check the box that applies.
4, {2 Building on the Essential Question How does using
the point-siope form of a linear equation make it easier 2 @ @
* ' 'to write the equation of a line? .=  { ( L i -
Lt o o Rl & <O et S For more help, go online to
access a Personal Tutor,
isued 3 . S .
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